Recruitment of J.B.T. Teachers

179. SHRI BALRAJ KUNDU, M.L.A.: Will the Education Minister be pleased to state the reasons for which the recruitment of JBT teachers has not been made by the Government in State for the past few years?

REPLY

SH. KANWAR PAL, EDUCATON MINISTER HARYANA.

Sir, as there are already surplus JBT teachers, no fresh recruitment has been made.

जे0बी0टी0 अध्यापकों की भर्ती

179. श्री बलराज कुंडू, एम०एल०ए०ः क्या शिक्षा मंत्री कृप्या बताएंगे कि गत कुछ वर्षो से राज्य में सरकार द्वारा जे०बी०टी० अध्यापकों की भर्ती नहीं किए जाने के कारण क्या है ?

उत्तर

श्री कंवर पाल, शिक्षा मंत्री, हरियाणा सरकार।

श्रीमान जी, क्योंकि पहले ही जे0बी0टी0 अध्यापक सरप्लस है, इसलिए कोई नई भर्ती नहीं की गई है।

BRIEF NOTE

Recruitment of JBT Teachers

179. SHRI BALRAJ KUNDU, M.L.A.: Will the Education Minister be pleased to state the reasons for which the recruitment of JBT teachers has not been made by the Government in State for the past few years?

In the year of 2012, this department has advertised 9870 posts of PRT against Advt. No. 02/2012 dated 08.11.2012. The Haryana School Teacher Selection Board (HSTSB) has submitted its recommendation of 9455(main list) + 763(waiting list) total = **10218** and Haryana Staff Selection Commission (HSSC) has submitted its recommendation of 2233(main list) + 281(waiting list) total = **2514**. So the total recommendations of 10218+2514=**12732** candidates have been received from HSTSB and HSSC.

Hence, no advertisement regarding recruitment of Primary Teachers is made thereafter because the recruitment process of Advt. No.02/2012 has not got finality till date as the matter is sub-judice before the Hon'ble High Court as well as the Hon'ble Supreme Court of India. Against 9870 advertised posts approximately 9022 posts of PRTs have been filled up on regular basis during the year 2017 to 2020.

After filling up above posts and as per rationalization of 1:30(Teacher:Students) ratio, the rationalization of the teachers has been settled after receiving the approval of the Hon'ble CM. by the Elementary Education Branch of Director Elementary Education. As per the approval of the Finance Department the sanctioned posts of the JBTs/Head Teacher are 44270, but as per the ratio 1:30 of the teachers, 34932 posts of the teachers are required. At present 36874 teachers are working. In this way 1942 teachers are surplus so that new recruitment of JBT cannot be made. The detail of rationalization dated 30.09.2019 is as under:-

Rationalization of JBT/HT on the basis of Student Enrolment as on 30.09.2019

Name of District
Post Post of HT & PRT (as per gree 25:1 30:1) Adhoc Regular Guest 31.12.2020
JBT/HT as per per 25:1 30:1) Adhoc Adh
Ambala 1519 1319 1311 - 8 0 0 4 Bhiwani 1757 1449 1581 132 - 97 35 15 Ch. Dadri 663 558 636 78 - 74 4 8 Faridabad 1917 1624 1746 122 - 0 122 14 Fatehabad 2031 1743 2003 260 - 0 260 4 Gurugram 2281 1913 1702 - 211 0 0 10 Hisar 2449 2027 2271 244 - 152 92 20 Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 <td< td=""></td<>
Ambala 1519 1319 1311 - 8 0 0 4 Bhiwani 1757 1449 1581 132 - 97 35 15 Ch. Dadri 663 558 636 78 - 74 4 8 Faridabad 1917 1624 1746 122 - 0 122 14 Fatehabad 2031 1743 2003 260 - 0 260 4 Gurugram 2281 1913 1702 - 211 0 0 10 Hisar 2449 2027 2271 244 - 152 92 20 Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 <td< td=""></td<>
Bhiwani 1757 1449 1581 132 - 97 35 15 Ch. Dadri 663 558 636 78 - 74 4 8 Faridabad 1917 1624 1746 122 - 0 122 14 Fatehabad 2031 1743 2003 260 - 0 260 4 Gurugram 2281 1913 1702 - 211 0 0 10 Hisar 2449 2027 2271 244 - 152 92 20 Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0
Ch. Dadri 663 558 636 78 - 74 4 8 Faridabad 1917 1624 1746 122 - 0 122 14 Fatehabad 2031 1743 2003 260 - 0 260 4 Gurugram 2281 1913 1702 - 211 0 0 10 Hisar 2449 2027 2271 244 - 152 92 20 Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178
Faridabad 1917 1624 1746 122 - 0 122 14 Fatehabad 2031 1743 2003 260 - 0 260 4 Gurugram 2281 1913 1702 - 211 0 0 10 Hisar 2449 2027 2271 244 - 152 92 20 Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0
Fatehabad 2031 1743 2003 260 - 0 260 4 Gurugram 2281 1913 1702 - 211 0 0 10 Hisar 2449 2027 2271 244 - 152 92 20 Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0
Gurugram 2281 1913 1702 - 211 0 0 10 Hisar 2449 2027 2271 244 - 152 92 20 Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0 149 1
Hisar 2449 2027 2271 244 - 152 92 20 Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0 149 1
Jhajjar 967 815 860 45 - 45 0 16 Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0 149 1
Jind 2028 1657 1851 194 - 85 109 12 Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0 149 1
Kaithal 1951 1612 1914 302 - 0 302 8 Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0 149 1
Karnal 2415 2054 2151 97 - 0 97 6 Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0 149 1
Kurukshetra 1644 1146 1530 384 - 178 206 1 Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0 149 1
Mewat 1321 3977 3025 - 952 0 0 9 Narnaul 4502 1118 1267 149 - 0 149 1
Narnaul 4502 1118 1267 149 - 0 149 1
Palwal 2356 1966 2228 262 - 0 262 6
Panchkula 1299 790 1084 294 - 0 294 8
Panipat 1821 1562 1698 136 - 0 136 9
Rewari 1234 1073 978 - 95 0 0 12
Rohtak 1004 818 851 33 - 0 33 15
Sirsa 2770 2305 2450 145 - 0 145 18
Sonipat 1980 1659 1691 32 - 0 32 18
Yamuna 2086 1747 2046 299 - 0 299 3
Nagar
Grand 41995 34932 36874 3208* 1266** 631 2477 217
Total

* No. of JBT Excess = 3208

** No. of Demand/Shortfall = 1266

Net Surplus = 1942
